Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

1) 27 x 78 =

2) 39x51=

3)

6)

9)

12)

54 x 95 =

Answers

10.

11

12.
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
27 x78= 39x51= 54 x 95 = N 2,106
2 7 3 9 5 4
4 ! 3,7
1 7 1/,’ 5 4 ’/,' 9 2 1,989
5 4 9 1|7 5 5 5 5.7 6
1 5 o |o 2 2 .7 3. 5,130
6 6|° 3 o|? 50|
1 9 1. i 1 L 4 2,212
0 6 8 . 9 3 0
5, 784
4) _ 5) _ 6) _
79% 28 = 56 x 14 = 23x 46 = 6. 1,058
7 9 5 6 2 3
1 0 1,7
1 5 0, 1 0 a7 490
5 4 8 ol 5 6 1 g .~ 2
5 7 A2 2 1 1 8 735
6 2|8 "0 h A
2 7|7 0
¢ ; 0. 1,870
1 2 8 - 4 5 8
10. 1,054
7) 8) 9)
49x 10= 49 x 15= 22x85=
11. 3,772
4 9 4 9 2 2
0 0 1 O/, 0 1 1 1 g |l 12 5,355
0l 4 ° o 4 > 1 6| ©
0 0 A2 4 1 1 7
0 y 5 |5
4 0 0 7 1.~ O 5 8 0 ,," 0
9 0 © 3 5 7 0
10) gox17= 1) goxa1= 12) g5x63=
6 2 9 2 8 5
0 10 3,7
0 1 3,/ 4 4 s
1 6 2 3|7 6 8 5 g |~ O
4 1 o .o 2 1
7 1 3
0 2 4 217 9 2 3 41,5
5 4 7 702 5 5
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